
 

 

 

 

gFjp I 
vy;yh tpdhf;fSf;Fk; tpil jUf. 

1. 8, 13, 18 ......., ......... vDk; njlupd; mLj;JtUk; ,U cWg;Gf;fis vOJf.  
2. jug;gl;l cUtpd; Rw;wsT ahJ? 

 

 

 

 

 

3. ngWkhdk; fhz;f 3.636 ÷ 0.9   
4. 343 I 7 I mbahfcila Rl;b tbtpy; jUf. 
5. ngh. fh. ng fhz;f. 

8a, 12ab, 18ac 

6. x ,d; ngWkhdk; fhz;f. 

 

 

7. cUtpy; fhl;lg;gl;l juTfspd;gb b ,w;F rkdhd Nfhzk; xd;iwg; ngaupLf. 

 

 

 

 

8. fhuzp fhz;f. 
ax + 2ay – 3x – 6y  

9. √625   ,d; ngWkhdk; fhz;f. 

10. ,yq;if +5
1

2
  fhy tiyaj;jpYk;, mbkupf;fhtpd; nyh]; VQ;ry]; (-8) 

fhytiyaj;jpYk; fhzg;gLfpd;wJ. 2021.01.10 md;W ,yq;if Neuk; K. g 7.30 
MFk; NghJ nyh]; VQ;ry]; Neuk; ahJ? 

11. fdTU xd;wpd; ePsk; 10cm mfyk; 8cm MFk;. mjd; fdtsT 400cm3 vdpd; mjd; 
mfyk; ahJ? 

12. 1:50 vDk; mstpilf;F tiuag;gl;l mstpilg;glj;jpy; 10cm ,dhy; Fwpf;fg;gLk; 
cz;ik ePsk; ahJ? 

13. juTj; njhFjp xd;wpd; tPr;R 25 MFk;. mj;njhFjpapd; ,opTg; Gs;sp 42 vdpd; 
cau;Tg; Gs;sp ahJ? 

14. 𝑥 ≥ 4.5   vDk; rkdpypapd; jPu;Tfis vz;Nfhl;by; fhl;Lf. 
15. 5cm, 7cm, 3cm vDk; gf;fePsq;fis cila Kf;Nfhzp mikf;fKbakh? fhuzk; 

jUf. 

jp/jp/Gdpj kupahs; fy;Y}up ( Njrpa ghlrhiy) 

jpUNfhzkiy 

,uz;lhk; jtizg; guPl;ir- 2021 

juk; - 8     fzpjk;    

Neuk; -2 kzpj;jpahyk; 

10 cm 

3 cm 

2 cm 

2x x  

c

a

b

d



16. AcDk; ,lj;jpYs;s egu; Nkw;F Nehf;fp 10m J}uk; nrd;W mt;tplj;jpypUe;J 
tlf;F 450 Nkw;F Nehf;fp 25m J}uk; nrd;W Gs;sp B I milfpd;whu;. ,jid Xu; 
gUk;gbg;glj;jpd; %yk; fhl;Lf. 

17. VWtupirg;gLj;Jf. 

28%, 0.38, 
3

5
   

18. RUf;Ff. 

3
1

4
− 2

1

8
   

19. jug;gl;l cUtpd; gug;gsT ahJ? 

 

 

 

 

20. &gh 800 ngWkjpahd Gj;jfg;ig xd;W 15% ,dhy; tpiy mjpfupf;fg;gbd; mjd; 
Gjpa tpiy ahJ? 
  

gFjp II 

01. a.kPd; jhq;fp xd;wpd; jsTU fhzg;gLfpd;wJ. 

 

 

 

 

 

 

 

1. kPd;; jhq;fpapd; mbapd; gug;gsT ahJ? 

2. ,jpy; 15cm cauj;jpw;F ePu; epuk;gpAs;sJ vdpd; mjpYs;s ePupd; fdtsT ahJ? 

3. jhq;fpapy; cs;s ePupd; nfhs;ssit l ,y; jUf. 

4. ,j;jhq;fpapy; NkYk; 3l ePu; Nru;f;fg;gl;lJ vdpd; jhq;fpapy; cs;s ePupd; fdtsT ahJ? 

5. NkNy cs;sthW ePu; Nru;f;fg;gl;l gpd; jhq;fpapy; vt;tsT cauj;jpw;F ePu; cs;sJ? 

          (2 x 5 = 10) 

b.   RUf;Ff. 

3(3𝑥 + 5) − 2(2𝑥 − 1)       (2 Gs;sp) 

 

02. Fwpj;j epWtdk; xd;wpy; Ntiynra;Ak; Fkhupd; ehs; xd;wpw;fhd rk;gsk; &gh x MFk;. 
Nkyjpf xt;nthU kzpj;jpahyj;jpw;Fk; &gh 250 toq;fg;gLk;.  

1. Fkhu; Xu; ehspy; 2 kzpNeuk; Nkyjpfkhf Ntiy nra;fpd;whu; vdpd; mtu; ngWk; 
rk;gsj;jpw;fhd ml;rufzpjf;Nfhitiaj; jUf. 

11cm  

5cm  

40cm  

15cm  



2. ,t;thW 5 ehl;fs; Ntiynra;J &gh 17500 I ngWfpd;whu;. mtupd; rk;gsj;jpw;fhd Xu; 
ml;rufzpj rkd;ghl;il cUthf;Ff. 

3. rkd;ghl;ilj; jPu;g;gjd; %yk; mtu; ngWk; xU ehs; rk;gsk; x ,w;fhd ngWkhdk; 
fhz;f. 

          (3 x 2 = 6)  

b. RUf;Ff.  

1)  2
2

3
 +  

5

9
              2)   

3

25
 × 

5

9
   3)   2

2

5
 ÷ 1

1

15
 

(3 x 2 = 6) 

03. a. 1.  6cm tpl;lk;cila tl;lk; xd;iw tiuf. 

2. mjd; kpfePskhd ehiz tiue;J mjd; ePsj;ij mse;J vOJf. 

          (2 x 3 = 6) 

b. jug;gl;l cUtpy; x, y, z ,d; ngWkhdk; fhz;f. 

(2 x 3 = 6) 

 

 

 

 

 

 

04. a. cUtpy; fhl;lg;gl;l rJuk; ABCD md; xU gf;fePsk; 8cm MFk;. gf;fk; AB ,d; 
eLg;Gs;sp E MFk;.  

1. AE ,d; ePsk; ahJ? 

2. gf;fk; AE ,w;F C ,y; ,Ue;J tiuag;gl;l nrq;Fj;jpd; ePsk; ahJ? 

3. Kf;Nfhzp AEC ,d; gug;gsT ahJ? 

4. AECD ,d; gug;gsT ahJ?        (2 x 4 = 8) 

 

 

 

b. RUf;Ff.  

1. 4 − 0.25 × 10  

2. 0.75 ÷ 0.05          (2 x 2 = 4) 

 

05.  

 

A E B 

C D 

1100 

700 

800 

x 

z 

y 



1. A, B, C ,d; Ms;$Wfis vOJf. 

2. ABCD Xu; nrt;tfkhf mika Gs;sp D Fwpf;fg;gl Ntz;ba mikitf; fz;L mjd; 
Ms;$Wfis vOJf.  

3. ABCD ,d; rkr;rPu; mr;Rf;fis tiue;J mjd; rkd;ghLfis vOJf.  

          (2 +2 + 4) 

b. 1. n Mk; cWg;G (3n + 4) MfTs;s Xu; vz;Nfhyj;jpd; Kjy; ehd;F cWg;Gf;fis 
vOJf. 

2. 39 ,f;Nfhyj;jpd; Xu; cWg;ghFkh? fhuzk; jUf.    (2 x 2 = 4) 

 

06. nrt;tftbt epyk; xd;wpd; gUk;gbg;glk; fhzg;gLfpd;wJ. ,jid 1: 200 vDk; 
mstpilia cgNahfpj;J tiuf. 

 

 

 

b.  

 

 

 

 

 

 

 

1. ,t;tiyAUitg; gad;gLj;jp Mf;ff;$ba jpz;kk; ahJ? 

2. ,jd; cr;rp Kfk; tpspk;Gfspd; vz;zpf;if ahJ? 

3. ,J xapyupd; njhlu;gpw;F mikthdjhvd tha;g;Gg;ghu;f;f. 

4. ,jd; xU Kfj;jpd; gug;gsT 12.5cm2 vdpd; mjd; nkhj;j Nkw;gug;gsT ahJ? 

 

  

40 cm 

20 cm 


